Challenging Practice 3. (a) $2400 (b) 4000 © 5
22. (a) () 910N (i) 040.3° .
: - . 4. (a) (i) $4390.40 (ii) $890.40
() () 91.0N (i) 2203 ®) 7500
23. (a) ‘A_ﬁl =8cm, |§B| =10 cm 5 (a) () $2250 (i) $450
2
® 0 3 ) fa-c () 165%
— . . 7
(i) sa+c (iv) Ja+c 6. (@ () $735 (i) $2112
" = (b) $2847
() (i) _33 (ii) 14 cm © 11.6%
24. (b) () Ez':zpwq 7. (a) $0.1796/kWh
X0 =-3p+q (b) () $0.3017 (i) $4.6117
0Z =3p+2q
(ii) Area of AOPQ =20 cm® 8. (a) $22.80 (b) 195 m’ (c) $5.85
Area of APXZ = 120 cm’ :
9. (a) 2420336 (JPY) (b) 13 221.30 (SGD)
25. (a) (i) -3b+6a (i) 4a e
(iii) 2b — 2a (iv) 8a—3b 10. (a) (i) SGD 131 (i) USD 0.960
) ) 1:2 (i) 1:8 (b) () USD 73283 (i) SGD 27292
(iii) 8 : 9
11. (a) $0O (b) $625 (c) $6540
26. (@) () —4p+2q @) 3p+ 2 W) $35.300 o) SRR 0
iif) — 3 i 2 12. (a) (i) $1440 (i) $2880
( 3p+ +
H=3p+ g Unie gl (b) $24 480
e 1::3 )
e Lals e Further Practice
Enrichment 13. (a) $100 (b) $105
" s 14. $5600 b) $6720 (c¢) $5920 (d) 14.8%
28. (a) CA = (:J OM = [ZJ (a) (b) ©) (@
% 15. (a) $14400 (b) 8500
() CD:DG=2:1
o ?M =ah 16. Plan B as the account amount is the highest.
(¢c) 72cm”
17. (a) $(150n — 3600) (b) 30 TG9
29. (a) OM = %(m + 0D) A (¢) 2 years 6 months
ON = (0B + 0C) "18. 160 kWh of electricity; 20 kWh of gas
@ G 0D = (-52) M= (-03), 5 = (i] {2.1435 |
19. (a) | 0.174 (b) 2506.99 ‘
(i) 445 2.678
30. (b) (ii) @é = UT and RS = PU 20. (a) (i) $49500 (i) $91 500
. PORSTU is a hexagon with three pairs of parallel (b) () $105750 (i) $7905
and equal opposite sides. () 96.4%
21. (a) The jewellery set is cheaper in Canada.
Chapter 5 Mathematics in Practical (b) 2.23%
Situations 22. (a) 1500 (b) $2160
Basic Practice
1. (a) $558 (b) $369 Challenging Practice
23. (a) (i) 14.3%
2. (a) (i) $32.50 (i) $6.50 (b) (iii) 10000  (iv) $70 000
(b) $27.30
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